
  1                                                                       

 

Please inspect the contents of your shipped package to ensure you have received everything that is listed 
below.  

All rights reserved.  
  

No part of this document may be reproduced, stored in a retrieval system, or transmitted by any form or by any means, 
electronic, mechanical, photo-copying, recording, or otherwise, except as may be expressly permitted by the applicable copyright 

statutes or in writing by the Publisher. 

 What’s In The Box  

 

A s s e m b l y  M a n u a l  

4 x Threaded Tubes 900mm 

 Scaff Tubes & Mitchell Camera Car Mount Grip Rigging Kit  (CM-SCGK-01)  

4 x Threaded Tubes 600mm 
4 x Threaded Tubes 300mm 

4 x Brackets 
8 x Adjustable Feet 

4 x 1” Clamps 

10 x Scaffold Clamps 3 x Reducer Clamps 6 x Tube Jointers 2 x Swivel Clamps  



2 

 

3 x 1" Spigots  

Large Cheese Plate with Mitchell Mount  

6 x Allen Bolts  
(Size: 3/8”x 12.5mm) 

15 x Allen Bolts  
(Size: 3/8”x 19mm) 

Small Cheese Plate with Mitchell Mount  

2 x L- Type Allen Keys  
(Size: 6mm, 5/16”) 

2 x Safety Belts (Pair) 

T- Bar Bracket 

Bag Packing 



  3                                                                       

 

INDEX 

   Sr. No                                             Particulars          Page No.                                  

1 Scaffold Clamp & Bracket Assembly 4 

2 Adjustable foot Assembly 4 

3 Tube jointers & 300mm Threaded Tube Assembly 5-6 

4 Large Cheese Plate Assembly 6-7 

5 Safety Belt Assembly 7 

6 Fluid Head Mounting 8 

7 Mini Mount setup 9 

8 1” clamp Assembly 9 

9 Adjustable feet Assembly 9 

10 Smaller Cheese Plate Assembly 9-10 

11 100mm Bowl Mounting 10 

12 Fluid Head Mounting 10-11 

13 Side Mount Setup 11 

14 1” Spigot  Mounting 11-12 

15 Adjustable foot & clamp or Bracket Mounting 13 

16 T-Bar Bracket Mounting 13-14 

17 Threaded Tube Mounting 14 

18 Reducer Clamp Assembly 14-15 

19 Swivel Clamp Mounting 15-16 

20 Small Cheese Plate Mounting 16 

21 Final Setup 17 



4 

 

• Loosen the ratchet knob of the bracket and 
mount it on the adjustable foot. 

• Similarly, insert the adjustable foot on the 
other end of the bracket. 

• The scaffold clamp is securely mounted. 
• Similarly, mount the other clamps on the 

brackets. 

• After mounting the Bracket on the                          
Adjustable foot, secure it by tightening the 
Ratchet knob. 

Scaffold Clamp & Bracket Assembly 

• Place the Scaffold clamp on the bracket      
ensuring the holes are properly aligned. 

• Insert the bolt (3/8”x 12.5mm) and tighten 
it using the 5/16” Allen key. 

 Scaff Tubes Setup  

Adjustable Foot Assembly 



  5                                                                       

 

• Insert the Tube Jointer into the 300mm 
Threaded Tube. 

Tube Jointers & 300mm Threaded Tubes  Assembly 

• Insert the 900mm Threaded Tube to the 
other end of the Tube Jointer. 

• Tubes are now securely joined. 
• Repeat the same process to join the other 

tubes. 
 
NOTE: You can choose the desired length of 
threaded tubes per your requirement. 

• Close the Clamp and tighten the knob. 

• Open the clamp and mount the tube onto 
the clamp. 

• The tube is securely attached the Clamp. 
• Similarly, insert the other side of the Tube 

into the clamp. 



6 

 

• Repeat the same steps to insert the other 
Tube into the clamps. 

•  Tighten the Bolt using a 5/16” Allen Key. 

• Similarly, mount the other three clamps on 
the Cheese plate. 

• Mount the clamp on the Large Cheese plate 
ensuring the holes are aligned and insert 
the bolt (3/8”x 12.5mm). 

Large Cheese Plate Assembly 

• Securely Mount the Large Cheese plate on 
the Tubes. 

 
NOTE: Scaff tubes should be at a good                   
distance from each other.  

• Now, lock all the clamps and securely               
tighten them. 



  7                                                                       

 

• Mount the Scaff Tubes on the vehicle. 

• Wrap the Safety Belt to the right side of the 
Scaff Tubes and insert the belt hook into the 
Scaff Tubes. 

• Car Mount Grip Rigging Kit is now secured  
with the help of the Safety Belts. 

 
• Follow the same steps for the other pair of 

the Safety Belts. 

• Insert the other end of the 2nd pair of              
Safety Belt into the Car's opposite handle 
and tie it securely. 

• Insert the other end of the Safety Belt into 
the Ratchet knob of the 2nd pair of the    
safety belt and securely lock it. 

• Secure the Scaff Tubes on the car by                 
wrapping them up with the Safety Belt      
(1st Pair). 

NOTE: It is highly recommended to use a              
safety belt to secure the camera units,                      
ensuring a stable and safe setup.  

Safety Belt Assembly 



8 

 

• Now, attach the castle Ring from the bottom 
and tighten it securely. 

• Slide the Camera (Not Included) onto the 
Fluid Head and securely lock it using the 
locking pin. 

• Attach the Camera Plate to the Camera  
(Not Included) and tighten it using the 
Screw Driver (Not Included). 

• Press the Push Pin of the Fluid Head and  
remove the camera plate. 

• Mount the Fluid Head (Not Included) on the 
Cheese plate. 

Fluid Head Mounting 

• The camera is now securely mounted on the 
Fluid Head. 



  9                                                                       

 

• Tighten the Allen Bolt using the 5/16” Allen 
Key. 

• Follow the same steps to mount the other 
clamps. 

•  Mount the 1" Clamp on the Small Cheese 
Plate and insert the Allen Bolt. 

1” Clamps Assembly 

• Similarly, attach the remaining adjustable 
feet. 

• Loosen the 1" Clamp's Ratchet knob and 
mount it on the Adjustable foot. 

Adjustable Feet Assembly 

• Mount the Small Cheese Plate on the car. 

Smaller Cheese Plate Assembly 

 Mini Mount Setup  



10 

 

• Mount the Fluid Head (Not Included) on the 
100mm Bowl (Not Included). 

• Mount the 100mm Bowl (Not Included) on 
the Cheese Plate. 

• Loosen the knob of the Adjustable foot and 
balance it . 

100mm Bowl Mounting 

• Attach the Castle ring from the bottom and 
lock it securely. 

Fluid Head Mounting 

• Mount the Camera (Not Included) on the 
Fluid Head (Not Included) and secure it          
using the Locking Pin. 



  11                                                                       

 

• The Camera is now securely mounted. 
 
NOTE: Use Safety belts to ensure the Camera 
is securely mounted. 

• Attach Adjustable feet, Scaffold clamp, and 
Bracket to the Scaff Tube and mount the 
Scaff Tubes on the car.   

 Side Mount Setup  

• Set the position of the Scaff Tubes as                 
desired. 

• Now, tighten the bolt using the 5/16” Allen 
key. 

•  Insert the bolt (3/8”x 19mm) into the 
Scaffold Clamp and put the Spigot on the 
bolt.   

1” Spigot Mounting 



12 

 

• Insert the Spigot into the other Swivel clamp 
and tighten it using the ratchet knob. 

• The clamp is now securely attached to the 
Swivel clamp. 

• Insert the Tube into the Swivel clamp and 
tighten the Ratchet knob. 

• The Swivel clamp is now securely attached 
to the Tube. 

• Extend the Tube's length as per your                 
requirement using the connector. 

• Attach the Scaffold clamp to the Scaff tube 
and tighten the Scaffold clamp knob. 



  13                                                                       

 

• Mount the bracket on the Adjustable foot 
and attach the clamp to the Bracket. 

 
• Slide the Clamp on the Scaff Tubes. 

• Tighten the Clamp knob. 
 
• The Clamp is now securely attached. 

• Loosen the Scaffold clamp knob and open 
the clamp. 

• Attach the Scaffold clamp to the T-Bar 
Bracket. 

T-Bar Bracket Mounting 

• Now insert the bolt (3/8”x 12.5mm)                      
ensuring the holes' alignment and tighten 
the bolt using the 5/16” Allen key. 

Adjustable foot , Clamp or Bracket Mounting 

• Repeat the same process to attach the other 
Scaffold clamp to the T-Bar Bracket. 



14 

 

• T-Bar Bracket is securely attached to the 
Scaff tube. 

• Attach T-Bar Bracket along with the Scaffold 
clamp to the Scaff tube and tighten the 
knobs of both the clamps. 

Threaded Tube Mounting 

• Insert the threaded tube into the T-Bar 
Bracket and tighten the bolt using the 6mm 
T-Type Allen Key (Not Included). 

 
NOTE: You can choose the threaded tube of 
the desired length. 

• The threaded tube is securely attached to 
the T-Bar Bracket. 

• Insert the 600mm threaded tube into the 
Reducer Clamp. 

 
• Choose the threaded tube of the desired 

length. 

 Reducer Clamp Assembly 

• Insert the Adjustable foot into the Reducer 
Clamp. 



  15                                                                       

 

• Loosen the Ratchet knob of the Swivel 
Clamp and mount it on the threaded tube. 

Swivel Clamp Mounting 

• The Adjustable foot is securely attached to 
the Reducer Clamp. 

• After inserting the Adjustable foot tighten 
both the Ratchet knobs. 

• The Swivel Clamp is securely mounted on 
the threaded tube. 

 
• Adjust the position of the Swivel Clamp as 

desired. 

• Now, rotate the Swivel clamp and re-tighten 
the Ratchet knob. 

• Insert the Swivel clamp into the threaded 
tube and then attach the Adjustable feet to 
the car. 



16 

 

• Now, tighten the Swivel clamp knob. 
 

• Mount the Scaffold clamp onto the small 
cheese plate mount and insert the                   
(3/8”x 12.5mm) bolt. 

• Tighten the bolt using the 5/16" Allen key. 
 
• Repeat the same process to attach the other 

clamp. 

Small Cheese Plate Mounting 

• Mount the Small Cheese plate on the 
threaded tube and tighten the clamp knob. 

• The small Cheese plate is securely mounted. 
• Now, mount the Camera (Not Included) on 

it. 
 
NOTE: Use the provided safety belts to              
secure the Setup. 



  17                                                                       

 

YOUR PROAIM  SCAFF TUBES & MITCHELL CAMERA CAR MOUNT  
ALL DRESSED UP AND READY TO GO! 

 (SHOWN WITH OPTIONAL ACCESSORIES) 

Warranty: We offer a one-year warranty for our products from the date of purchase. Within this period, we 

will repair it without charge for labor or parts. The warranty doesn’t cover transportation costs, nor does it 

cover a product subjected to misuse or accidental damage. Warranty repairs are subject to inspection and 

evaluation by us. 

Liability: We are not liable for damage caused by products we do not supply or from mishandling in       

transit, accident, misuse, neglect, or lack of care of the product or service by anyone other than our                  

company. 

Contact Us: If you are dissatisfied, please contact us immediately. We promise our utmost support and care 

until you use our product.  


